MIAMI-DADE ) MIAMI-DADE COUNTY, FLORIDA

COUNTY METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com
Clopay Building Products Co.
101 Miller Road

Russia, OH 45363

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by the BCCO and accepted by the Building Code and Product Review
Committee (BCPRC) to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction
(AHJ). ‘

This NOA shall not be valid after the expiration date stated below. The BCCO (In Miami Dade County) and/or the AHJ (in
areas other than Miami Dade County) reserve the right to have this product or material tested for quality assurance purposes.
If this product or material fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and
the AHJ may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BCPRC
reserves the right to revoke this acceptance, if it is determined by BCCO that this product or material fails to meet the
requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code including the
High Velocity Hurricane Zone.

DESCRIPTION: 18’ 2” Wide EPS Garage Door.

APPROVAL DOCUMENT: Drawing No. 103028, Sheets 1 through 1 of 1, titled “M/N 4300/01/10; 4400/01; HDG/L;
66/7/8; EXT HGT” dated 01/13/03 & 04/02/04, with last revision on 07/18/05, prepared by Clopay Building Products-Co,
signed and sealed by M. W. Westerfield, PE. bearing the Miami-Dade County Product Control Approval stamp with the NOA
number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large & Small Missile.

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and following
statement: "Miami-Dade County Product Control Approved or MDPCA", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change in the
applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the materials,
use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for sales,
advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of this NOA
shall be cause for termination and removal of NOA. '

LIMITATION: This approval requires the manufacturer to do testing of all coils used to fabricate door panel under this
Notice of Acceptance. A minimum of 2 specimens shall be cut from each coil and tensile tested according to ASTM E-8 by a
Miami-Dade County approved laboratory selected and paid by the manufacturer. Every 3 months, four times a year, the
manufacturer shall mail to this office: a copy of the tested reports with confirmation that the specimens were selected from
coils at the manufacturer production facilities, and a notarized statement from the manufacturer that only coils with yield
strength of 30,900 psi or more shall be used to make panels for Miami Dade County under this Notice of Acceptance.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done in its
entirety. ,

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and shall be
available for inspection at the job site at the request of the Building Official.

This NOA consists of this page, evidence page as well as approval document mentioned above.

The submitted documentation was reviewed by Candi

NOA No: 04-0407.01
Expiration Date: March 2, 2011
Approval Date: March 2, 2006
Page 1




Clopay Building Products Co.

A.

NOTICE OF ACCEPTANCE: __ EVIDENCE PAGE

DRAWINGS
1. Drawing prepared by Clopay Building Products Company, titled “M/N4300/01/10; 4400/01;
HDG/L; 66/7/8; EXT HGT,” Drawing No. 103028, dated 01/13/03 & 04/02/04, with latest revision
on 07/18/05, sheets 1 through 1 of 1, signed and sealed by M. W. Westerfield, PE.

TESTS
1. Test report of uniform static air pressure test per TAS 202 & forced entry resistance test per
AAMA 101,0n Sectional Garage Door (Insulated) prepared by Hurricane Engineering & Testing
Inc., Report No. HETI-03-1358, dated 11/19/03, signed and sealed by R. E. Droz-Seda, PE.

2. Test report of large missile impact test per TAS 201 and cyclic wind pressure test per TAS 203,
on Sectional Garage Door (Insulated) prepared by Hurricane Engineering & Testing Inc, Report No.
HETI-03-1359, dated 11/19/03, signed and sealed by R. E. Droz-Seda, PE.

3. Test report of tensile test per ASTM E-8 on Galvanized Steel Door Skin (Front-Edge) prepared by
Hurricane Engineering & Testing Inc, Report No. HETI-03-T084, dated 1 2/03/03, signed and sealed
by R. E. Droz-Seda PE.

4. Test report of salt spray test per ASTM B117 on galvanized and painted steel panels, prepared by
Twin City Testing Corporation, Report # 30160-04-63365, dated 01/26/05, signed and sealed by J. D.
Lee PE.

3. Test report of ignition properties test per ASTM D-1929 on type 1 EPS, prepared by Intertek
Testing Service NA Inc, Report No. 3082959-500, dated 09/16/05, and signed by C. A. Penaloza.

6. Test report of surface burning characteristics per ASTM E-84 on Type I EPS prepared by Intertek
Testing Service NA Inc, Report No. 3082960-500, dated 10/04/05, and signed by J. Trevino.

CALCULATIONS
I Fastener Attachment Calculations prepared by Mark Westerfield pages 1 and 2, signed and
sealed by M. W. Westerfield, PE. on 01/26/05.

QUALITY ASSURANCE
1. Building Code Compliance Office.

STATEMENTS

1. Code compliance letter issued by Mark Westerfield on 04/02/04 signed and sealed by M. W.
Westerfiedl PE.

2. No financial interest letter issued by Mark Wethersfield and notarized by S. E. Rodenhauser on
04/02/04.

O3 0‘2/95
Candidd F. Feht PE.
Sr. Product Control Examiner
NOA No 04-0407.01
Expiration Date: March 2, 2011
Approval Date: March 2, 2006




4 | 3 '.*,,‘ 2 1

CLOPAY MODELS 4300. 4301, 4310, 4400, 4401, HDG. HDGL (UP TO 80" HIGH) “ REVISIONS
T INSTALLER | RETAIL
HOLMES MODELS 66. 67. 68 (UP TO 8'0" HIGH) / NSTAL ETALL o eRIPTION ) y
EXTENDED HEIGHT _MODELS H300. H301. H310. H400, H401 (UP TO 120" HIGH) ¥ 3300/H300_[ ADG, 66 427 GhA. EXT. SKIN; SHURT RAISED PANEL| 4 REV. NO.{ ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
2400/H400 ] N/A 24 GA._EXT. SKIN; SHORT RAISED PANEL]“
p ; 2481;43% ZBA S; EA _§ ] ll:: g: ;zml - 04 - 07/18/05 - MW PER M—D FEEDBACK .
e 6" C—CHANNEL 301/H3 A_EXT. ; FLU EL .
VIEW E f 3310/H310 1 HDGL, 67427 GA, EXT. ;_WIDE RAISED PANEL |- e /e o 14 DENSIT EXPANDED {TED iy
CONE FILLED CHANNEL SEPARATES POLYSTYRENE FOAM INSULATI IN;
DOOR { NUMBER OF + | S FRONT AIT:ID BACK SKIN OF DDOR i/ BO'IFH EXTERIOR AND INTERIOR SKINS. FOAM 7
HEIGHT SECTIONS * r “'\ | 275" . _l v 27 GA. (0.016" MIN) EXTERIOR STEEL' 2\ o Thiek 2 MANUFACTURED BY PREMIER INDUSTRIES, INC. /
50710 7007 4 / 8" SH — SKIN (MIN. YIELD STRENGTH: 33 KSI,
. : = / F14x5/87 SHEET METAL SCREWS, DRAWING QUALITY) WITH G-40 M'N';\ 12 GA. GALV. STEEL TOP RDLLER BRACKET *
90" 10 108 _ 6 AT THE (3) LOCATIONS PER CHANNEL NOTED ON (24 GA. DOORS GALV., BAKED-ON POLYESTER PAINTED (2-1/2" x S—3/87). EACH BRACKET ATTACHED * D
10'9" T0 1270 INSIDE_ELEVATION BELOW ATTACH THE 6" x 2-1/4" USE 14 GA TOP COAT APPLIED TO BOTH SIDES OF ¢ o irt8) HaxB /" SHEET METAL SCREWS, ~
= SECTION ARE EITHER 18" OR 21" HIGH + 12 GA. STEEL REINFORCING PLATE TO THE UNDERSIDE " INTERM. HINGES) STEEL SKIN. 5 Wyge) g1ax e A R BRACKET WiTH ¢
- ” » " - 7 “ "
OF HE. CLCHANNEL WITH (1) 1/47k3/4" SELF BACKER SHEET ADDITIONAL FASTENERS: 7 75 NES) f—% 7 4 (2) 1/4°x1/2" BOLTS AND NUTS PER BRACKET. .
;PTG %/ ‘
ATTACH 12 GA. REINFORCING 2) K X %" TEK L e 1/4"x3/4" SELF . 1—1/4" WIDE x 16 GA. GALV. STRAP. (7) PER /
()20 58 7 STz, s PLAES O COMEL Y& S M T T S0 0 I e SoRevs. /s L Bolhselon (e s FiwTa) | 60 ©
SHEET AT EACH INTERMEDIATE HINGE ¢ JHESE L N EACH - ! 14_GA._END HINGES - GA._INTERMEDIATE_HINGE STRAP ATTACHED WITH (3) 1/4"x3/4” SELF 7
[OCATION. BACKER PLATE ATTACHED # SECTION. SEE VIEW "E" , BOTTOM SEGTION  » p— Ao e TAPPING SCREWS (TWO SCREWS TO DOOR, ONE *
WTH DOUBLE SIDED ACRYLLC A VIEW "B" , VIEW "C” - . . ; SCREW TO. C-CHANNEL), 7 '
ADHESIVE TO BACK OF DOOR ¢ o HORIZONTAL (TOP) JAMB ’ 6"
VIEW "C" 7 (No LOAD FROM DOOR) T 14 GA. GALV. ROLLER HINGE. EACH HINGE * /
——— —— e N — — - e N — — = =] [y~ — — — - — - FASTENED TO END STILES W/(4) #14x5/8" ¥ .
ﬂﬁ— 1H) _ﬂﬁ—r 1 T |Iﬁ_ 1 T |lﬁ— view "8 ° ' }\F . N SHEET METAL AND (2) 1/4"x3/4" SELF ~ 2-1/2" /
p [ JtBlL - — 2 \ TAPPING SCREWS. (SEE VIEW "B") ] |__ . —
E == = e Rk ik dleieiiaiedsiniaty b 1E2DGA' DOUBLE END STILE EACH 7 orEs: 7 TONGUE AND GROOVE JOINTS. 4 AL X 20 GA GALY. STEEL U_BARS, ONE / ; 5/8" (TYP.)
- - — _ﬁ_-__ — a— —— — I s v . : . - ; 6" TALL C—-CHANNEL v
g C Y ) u 1) ALL THE LOAD FROM THE DOOR IS e R T O i aonion OF Mt boor, ¥ 16 GA GALV. STEEL
A e 7 NSO SO OO, O S TSFETTED 10N RACK D LR T L ’ A i o 1/ SEL e VEW F”
4] ___ ___ C__ | _ _ . - ___ ___ , x ) . VIEW F
@ —=—N o Ty w____-sﬂr____—u ey Vi ek VY eyl LOCK POSITION (BOTH SIDES) TWO LOAD FROM THE DOOR IS TRANSFERRED TO - SCREWS PER HINGE LOCATION.
S N gtE)IIQNTRELgL(I:IKRIgh(A;ES%S ggEsr\JECTTI-:IgLED ’ THE HORIZONTAL (TOF) miS. 7 MAX. 0.C ! y ONE 8" TALL, 16 GA. C—CHANNEL PER DOOR SECTION (SEE VIEW F) /
- - _—— bt 1 | - - - ’ . 0.C| MIN. No. - Rt -
g Hh 1 i1 1691 [ 1t 11 12.1 OF TAS 202. LOCKS HAVE - 2) ALL JAMB FASTENERS MAY BE (BUT NOT * OF FASTENERS J (2) 1/4'x3/4" SELF TARPING SCREWS PER END STLE AND ONE E’ J
: i Ll i LLLL LI 1L L 1Ll 5/8" MIN. ENGAGEMENT. DOOR ¢ REQUIRED) COUNTERSUNK TO PROVIDE A~ PER VERTICAL , SECTION AA (SIDE_VIEW) 1/47x3/4" SELF TAPPING SCREW PER BACKER PLATE LOCATION. (SEl
% l ———— — = —— TESTED FOR FORCED ENTRY WITH: FLUSH MOUNTING SURFACE. ~ .. JAMB . VIEW E FOR REINFORCING PLATE MOUNTING)
= : BOTH OUTSIDE KEYED LOCK AND ]
F=——= ﬁ-———‘&———-ﬂﬁ— INSIDE SLIDE BOLT LOCK OPTIONS. *
1Ll L T | (SEE LAYOUT OF EACH LOCK FOR / 2«6 VERTICAL JAMB - 27 GA. (0.016" MiN.) INTERIOR STEEL SKIN (DRAWING 7 C
DETAILS. 4 QUALITY) WITH G—40 MIN. GALV., BAKED—ON PRIMER AND ¢
_ L —— )] P / N % A BAKED—ON POLYESTER PAINTED TOP COAT APPLIED TO /
== — WOOD FRAME BU”_D‘NGS g BOTH SIDES OF STEEL SKIN. /
L A L OPTIONAL OUTSIDE KEYED LOCK POSITION (2) STACKED LHR BRACKETS USED : - 1ol 13 GA. GALV. STEEL BOTTOM BRACKET. ATTACHED
(MAX. AREA 120 SQ. IN) 7 S FOR INNER BOTTOM BRACKETS. - STUD WALLS OF DOOR OPENING SHALL ~ W WITH (4) #14x5/8" SHEET METAL SCREWS. /'
i y MAX. DOOR WIDTH = 18'-2 = | BRACKETS ATTACHED WITH (2) BE PRAMED SOUID BY NOT LESS THAN * AN EXTRUSION & VINYL WEATHERSTRIP. 7
N _ Y M/N 4310, HDGL, H310, 67 MAX. DOOR WIDTH = 18'-0" 1/4"x3/4" SELF TAPPING SCREWS. 3) 2x6 PRESSURE TREATED SYP OR L . o
gEESTsE:EcLTIgN B:—RA v DE ATION NOTE THAT LHR BRACKETS ARE ALSO (Bl:leE:l GRADE #2 OR BETTER WOOD / ALUMINUM ATTACHED TO SECTION WITH #8 x 1" SELF TAPPING SCREWS AT 21-1/2" 0.C. MAX.
FOR DETALS INSIDE ELEVATION USED TOP BRACKETS FOR LOW STUDS OF A STRESS GRADE NOT LESS * JAMB TO SUPPORTING STRUCTURE ATTACHMENT SECTION A-A (SIDE VIEW) ¢
i ) HEADROOM OPTION DOORS. SEE THAN 1200 PSI NOMI(NAI)_ ExTTREME FIBER * ,
6" C-CHANNEL. SEE ~ END "DOUBLE TRACK LOW HEADROOM STRESS IN BENDING (Fy). STUD WALLS -
SECTION A-A FOR DETAILS / NIER STILE OPTION” DETALL IN ZONE A3. 1O BE CONTINUOUS FROM FOOTING TO - 26 JAMB TO SUPPORTING STRUCTURE ATTACHMENT
’ STILE / ’ v
SNAP LATCH ENGAGES SLIDE BOLT , MAXIMUM *
ogToE VERTICALTTRACK’\.I’ oUTSIDE E’;‘EE Lock ENcacEs <+ C—90 BLOCK WALL, 2,000 OR ON CENTER
NE SNAP LATCH ON INTO VERTICAL - ANCE EEL -
EACH SIDE OF DOOR.’ HANDLE / TRACK. ONE  ~ 3.000 PSI MIN. CONCRETE - , / SE‘TTWEEN ’ \?VTASHERS
INTER. STILE LoCK BAR LOCK ON EACH ” 246 YELLOW PINE (GRADE #2 OR BETTER) JAMB SHALL ‘| BUILDING TYPE FASTENER TYPE ** _ __ FASTENERS /?EOSISED;
ENGAGES IN “ ’ BE ANCHORED TO GROUT REINFORCED BLOCK WALL OR “ 1C—90 BLOCK 11/4" x 3 (1-1/4" EMBED) TW TAPCON CONCRETE ANCHOR (2—1/2° MIN. EDGE DISTANCE) 5-1/2" 1" 0.D. =
’ TRACK ON / INSID D LT CONCRETE COLUMN. BLOCK WALL CELLS SHALL BE - 3,000 PSI_MIN. CONCRETE - [1/4" x 4" (1-3/4" EMBED) ITW_TAPCON CONCRETE ANCHOR (2-1/2" MIN. EDGE D|STA21_<F:E£CE ; 122:;/2" / :NCEO%ED .
OUTSIDE KEYED END 7 OUTSIDE KEYED LOCK EACH SIDE’ 1OCK OPTION FILLED WITH CONCRETE AND REINFORCED WITH - ,000 PSI_MIN. CONCRETE 7 11/2" x 4 (2-1/4" EMBED) TTW RED HEAD TRUBOLT WEDGE_ANCHOR (2" MIN. EDGE_DISTANCE) —3/4 INCLD
HANDLE STILE LOCK BAR LOCKING “ OF DOOR. 7 REINFORCING BARS EXTENDING INTO THE FOOTING AND ~ WOOD FRAME T 1i/2" x & (1-5/8" EMBED) LAG SCREW (ASTM A307, GRADE A) (2-1/2" MIN. EDGE DISTANCE) v - -D.
INTO TIE BEAMS. ALL BARS SHALL BE CONTINUOUS - =50 GROUT=FILLED BLOCK{3/8" x 4" (2-1/2" EMBED) flw RED HEAD DYNABOLT SLEEVE ANCHOR (2-1/2" MIN. EDGE DISTANCE)[# 6—1/4" . [TNCLUDED
INSIDE HANDLE * FROM THE TIE BEAMS TO FOOTING PER BLOCK WALL ~ 5560 PS| MIN. CONCRETE *1172" x 4" (2—1/2" EMBED) WEJ-IT SLEEVE ANCHOR (2-1/2" MIN. EDGE DISTANCE) 7 22-37/4" ,[INCLUDED
, TRACK CONFIGURATION Y OR CONCRETE COLUMN. BLOCK WALLS AND CONCRETE ° p,
OQUTSIDE KEYED LOCK
sﬁ;plDLAT'éEYEL%CL,?CanON , COLUMNS TO BE DESIGNED BY THE BUILDING ENGINEER » _ FIRST ANCHOR/SCREW STARTING FROM BOTTOM AT NO MORE THAN HALF OF MAXIMUM Ol CENTER DISTANCE. B
OR ARCHITECT OF RECORD. , HIGHEST ANCHOR/SCREW INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING HEIGHT /
% i’ +r _ ANCHORS CAN BE INSTALLED DIRECTLY THROUGH TAPERED TRACK ANGLE IN LIEU OF 5/6 X 1-5/8 LAG SCREWS
%% HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (1O SUIT) NOTE: SUPPORTING STRUCTURAL ELEMENTS”,
il - = = SHALL BE DESIGNED BY A REGISTERED < ¢
AN ———————— = —— / sz conrieuraton ¢ PROFESSIONAL ENGINEER FOR WIND LOADS
Zavy PREPARATION OF JAMBS BY OTHERS. * cpeion c-c SHOWN ON THIS DRAWING.  »”
3" GALV. TAPERED STEEL TRACK AND. ANGLE, ’ /1" DOOR OVERLAP (FACH SIDE) — AT 7 .
R » N v STOP MOULDING BY DOOR INSTALLER (TO SUIT) 4 D %
P TRACK THICKNESS: .101". ANGLE THICKNESS: .080 s W0 T or DOUBLE END STLE. EACH END ST“:E//
T=K g » "JAMB PREPARATION % MEASURES 5-3/4"x2-1/8"x3/8” AND IS = )
I \#XEEE'%’S'N/ H?ﬁg%'\ﬁ\-l‘ ggﬁ% . }:‘EOMAE‘A"S"_?MMSSQ%HS ’, R R LR Z [/ ATTACHED WITH ONE #8x1/2" WAFER SCREW. * 7 // 4
= M . ) | T 4
5 & NUTS FOR EACH TRACK. |, sLOT TO TRACK JUNCTION : ! 5
% _"‘\ 2-7/8" x 3-1/4" MIN. x .0BO" 'I;\PERED AN1(_3LE. | 9
SEE LAG BOLT MOUNTING - % N ”
v ADDITIONAL MOUNTING SLOTS REQUIRED FOR * AT TRACK CONFIGURATION - 7/16" ROUND PUSHNUT 7\ 18 GA. GALV. STEEL CENTER HINGE ~ ONE 5/16" x 1—5/8" LAG SCREW SPACED DESIGN ENGINEER .
g DOORS OVER 7°0” HIGH SPACED AT 12" CENTERS. ¢ is INSTALLED ON EACH © - FASTENED, TO INTER, ST esal"/ (“‘/) SI)&:E (!SEW'E 2‘;;’3“1505,, AZSZJ—H;IRAsz" g VARK W. WES;ERF\ELD. P.E.
1= D . B 53— , : . : ' FLORIDA P.E. #4B8495
101" THICK 3" GALV. STEEL TRACK FASTENED 12 GA CALV. STEEL ROLLER HINGES =~/ ETC.). ADDITIONAL LAG SCREWS LOCATED AT “ 3 !
! 12" ON CENTER / TO TAPERED ANGLE. TRACK ATIACHED 7 Fﬁl%”/%'?' o e A S 16" )23" & 40" FROM BOTTQM. ALSO TWO < NC PE. 23832, TEXAS P.E. 491513
z ‘ T A oGNThG 'SLoT. B/ St TaPRG Sorens Per eno wnee. 4 LAG SCREWS LOCATED ABOVE -
o At — 1 v / ADS: +46 PSF & —50.0 PSF
7 48 3" DA, 8-1/2" LONG STEM BALL BEARING STEEL ROLLER. v/~ VERTICAL/HORIZONTAL TRACK JUNCTION. DESIGN LOADS
o \ : PART NO.: N/A A
z n ¢ .
e el 247, N/ ONE. %" TRACK BOLT AND NUT AT EACH -
§ * MOUNTING SLOT LOCATION. , LHR BRACKET (2-1/2" x 5-3/4" x 12GA) ATTACHED WITH Unless Stated Otherwise | (i 3585 Dgheﬂgg%evljlsrg CLOPAY WINDLOAD RATING
o (2) 1/4" x 3/4" SELF TAPPING SCREWS. NOTE THAT LHR fimﬁ”@wf&ﬁm{@@m@ﬁyﬁmg%ﬁ%&g TOLERANCES are -l npay T?sor\?é 4080 830
- BRACKETS ARE ALSO USED AS "INNER BOTTOM BRACKETS Tlorida Builine Code - Fe' No! 213_770-4853
~=t-22" 7 ggl%i]’ TVREASc:(CALLENGTH / AS SHOWN IN ZONE C~3. g‘i‘ £ 0 = £.031 Building Products Company ax No. -
5-6" | 65" DOUSLE HORIZONTAL 00 = £.015 [DESCRIPTION: - M/N 4300/01/10; 4400/01; HDG/L; 66/7/8; EXT HCT
70" | 72" .000 = +.005
AL 4" 7 7 —6"_| 78" , 0000 = 4.001 DRAWN BY: RJK DATE: 01/13/03 SCALE: N/A DWG.
B—0" [ 84 7 . 001
sty o [EOCIOE ; DOUBLE TRACK = Degrees = *1/2 CHECKED BY: MWW DATE: 04/02/04/ SHEET 1 OF 1 |SIZE
o 1007 96" QW _HEADROOM_OPTION i
/ Unless Stated Otherwise
TTTTTSPTTE, 12'-07 132 DIMENSIONS ARE IN INCHES.|DWG. NO.: 103028 REV. NO. 04

—



